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AN dot=SAFE A
My Nz
ol BOUANYALTO HHE BZ(HETSBIMH) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O4+CaR BAN A=us ol
350,000 x5& *13 1,750
206 M= Hl 2,695,680 2,577,120 118,560
01 M= 4l 2,695,680 2,577,120 118,560
xS 724l 4323 *520,000E x 128 2,695,680
308 XXM SOIA 734,400 729,600 4,800
MOIIERES 734,400 729,600 4,800
OF=JUR=2 == 1703 +360,000=+12& 734,400
403 A X EHHS =0l A 4,752,529 4,327,555 424,974
02 SO 2SOlCHet A2 X 2 EF A I 4,752,529 4,327,555 424,974
OXNELA=ERAER2YE =8 X2 4,752,529
ol g1yl 107,549 107,549 0
801 Gl HI bl 107,549 107,549 0
01 BHoil bl bl 107,549 107,549 0
ool 107,549
HE2HZHI 50,288 46,115 4,173
A2 (Aot Z AL ) (M= SHSH) 50,288 46,115 4,173
aaE8 3 012AY| 50,288 46,115 4,173
101 14 Hl 50,288 46,115 4,173
03 RIAHAZ 2T E =+ 50,288 46,115 4,173
Q&2 +3 olAHY| 50,288
OoJlzs 2,132,0403 x1H x 123 25,585
O&0= 2,474 ,300& x4= | 9,898
OusEXHl 218,000& x 18 «128 2,616
ONEs=g 80,000& x1H » 122 960
OFE =S tHl 2,132,040& x0.6%2 2,559
Ogtre=rE 80,0003 »1H »252 2,000
Osthkt= 465,098& x4=2 | 1,861
O=RdsRE= 38,144,000& *4.5% 1,717
OHLEEERES 38, 144,000 *2.9% 1,107
OLoRABEHRES 1,107,000& 6. 8% 76
OL=EEERE3 38, 144,000& *1.5% 573
OtHEE = 38,144 ,000& %3.5% 1,336




